04.02.2020

Due in 10.02.2020

Maths Home Learning – Number Sense (review previous learning)

Insert the correct symbol: ‹ or › between the two numbers.  Justify your answers.
3456
1356 because
7694
7456 because
2475
4729 because
7823
6790 because
1093

1039 because
9745
9974 because
5543
5433 because
2198

2185 because
Finish this sequence:

2563, _______, 2763, _______, 2963, _______, ________, _______

_______, 7856, _______, 7876, _______, 7896, _______, _______, 

Partition these numbers:
7291

8056
74.9

How many ways can you partition 2469?
